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T THREOREE B4 Wm) | Lim) [ Dm) [NGEEAD] V(m3)

Al1-A2

@ | $p@Es | & | 0.600 | 2.300 | 0.050 1 0.0690

AR Bh S LB A (B A7 7% )

S V= 0.0690 - 0.069 m’

@

BEAM LR T

FERE (COHERD)

V= 0.069 = 0.07 m®
% T

R 7 F )X - T

N= 1 1 1 =]

T OIEL BUE-GRE R

A=( 2713 + 2.650 ) X 1/2 X 0.100 X 2 0.54 0.5 m
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W1 fREHR

B ORSH HM4 | W) | Lm) | Dm) [INEFD] V(nd)

A1-A2

@ | F B [ 7| 0.150 | 0.400 | 0.050 | 1 0.0030

@ | B [ [ 0.150 | 0.850 | 0.050 | 1 [0.0064

@ | F# B | 7| 0.150 | 0.750 | 0.050 | 1 ]0.0056

@ | SR @EH | H 78 | 0.300 | 0.450 | 0.050 1 0.0068

® | F B [ 7| 0.300 | 0.200 | 0.050 | 1  0.0030

® | B [ 8] 0.100 | 0.200 | 0.050 | 1 ]0.0010

@ | $kfpigH | = #i] 4.200 | 2.200 | 0.050 1 [o0.4620

1777 B 85 AL B (KA 2 D)

TV= 0.0068 + 0.4620 = 0.469 m’

@ @
A7 5 i AL AR (SR T
TV= 0.0030 + 0.0064 + 0.0056 + 0.0030 + 0.0010 = 0.019 m’
© @ ©) ® ©®

PERALER T

X (COMER)

V= 0.469 + 0.019 = 0.5 m’
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AlfGE

A= 0.50 X 3.615 = 181

A= 050 X 010 X 2= 0.10

A= 1.81 + 0.10 = 191 1.9

A2fEE

A= 0.50 X 3.385 = 1.69

A= 050 X 010 X 2= 0.10

A= 1.69 + 0.10 = 179 1.8

A= 1.9 + 1.8 3.7 4 nf

a7V —h18-8-25BB)

AlEE

V= 050 X 0.10 X 3.615 0.18

A2fEB

V= 050 X 0.10 X 3.385 0.17

V= 0.18 + 0.17 0.35 0.4 m’
G an

TR B - S

A= (1.00 + 6.80 + 1.000 X 0.20 1.76 2 m2

T DIERIE

A= (1.00 + 1.00) X 0.20 0.40 0.4 m2




